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Ir J.3. Lumby,
flunzrlas [aburatery,
L . <3TCFT.

Daar Dr Lumby,

I think the example you oent me gonverges all right,
I have made rather a mess of your original sheet, through
werking on Lt in tralns and such places, dv my best way will
be tu ex.lalin one comglete cycle uf substitutlons, starcing
with any syetem of wonthly values one likes

Cn the en¢losed sheet I have 12 columns for the montha,
headed by the number of cbeervatione avallable f:r each month,
On the firet line i have put down the month deviations im
thousandtha of 1 per mille with which I propose tu atars.
Their total is -1, and though sesentially the same result
will eventuate if the same number igBRdded to or subtratted
from all 12 values, it is uunn‘n*t to keep the total mear
to zere. '

From the provisicnal monthly deviations, the yearly
averages are cbtained as @llows. I have a columm of 14
years, with the number of obesrvations in eash year, and
in the 3rd, eelumn the crude total of thess observations



(ignoring the constant 35), The year 1804 has € obser-
vations in Feb,, Mar., May, Aug., Sep. and Nov. The

total of the provisbtmal deviations for these months is

=78, s0 I add .0B2 to the total 2.000 and divide by & teo
vbtaln tine yearly average in column (L), .3237. In the

gama way the other 13 yearly averages are obtained. Hobtioe
that I have omitted the years 1915 and 1928 having cobservations
in only ons month, since they can throw no light on variations
Trom month o wonth, though they can be given yearly *ﬁ.lun.
by oubtracting 'rom the one cbeervation, the average deviatien
L'yt Lne mugh.

Yrom column (1) I have cnlculated lina (11) on thae
Saue principle. Jan. a pears in the 2 Jeara 'C8, '09 and
'10. For '08 it scores 64 mbove the yearly value, for '08
it scores 60 above and for '10 it scores 77 below. 1In all
this gives £2, which dividaed by 3 gives ths new value, / ;7’5
for the January deviation. In the esame way the other
months are recaleulated, and one is in = posivion to commence
a new ¢yole.

Actually the changes are so small that you will oaly
want to nu-r:.r' it out egain te satiafy yourself as to method,
and as to whether the slow ersesp remaining is really slowing
up.  For this purpcse it might be worth while kaeping &
further d-niful place, which you would I imagine never use
in practige.



Ial

It has ocourred to me that some of your original
antriss ars thamselves averages of 2 or more ohaarvationa.
If this is so it would be technically an improvement to
g#ive them ANy due weight by counting them se,arately and
treating all entries in the same cell alike in maxing

allovancea for the year in deriving monthly deviations,

and vice versa.

I hope this will go all smoothly. Do not hesitate

to write ageain on this or other pointa.

Yours eincerely,



